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& JIFHSEIMUS (ctel &)
_ _ _ Muo
SN CR(EH) - NRAY - BES 01l &k o e HRE2
Jeleld gsXE 8,000 6,000 2,000
= 4,000
= 4,000
307 GI2+0I A 8,000 6,000 2,000
= 4,000
i 4,000
02 BI2tAAE X 8,000 6,000 2,000
ODglelHegs NA 8,000,000 8,000
= 4,000
= 4,000
EHAZQIERN CIMEE K& 20,000 6,000 14,000
= 10,000
= 10,000
301 Lpt8aag 20,000 6,000 14,000
= 10,000
i 10,000
12 JIEtE 4= 20,000 6,000 14,000
OEAEAEFAHA AMEE 20,000,000 20,000
= 10,000
= 10,000
SEZMELs JIgR= 110,000 7,200 102,800
sEZ YL E 110,000 7,200 102,800
=g MEISOHHA 2 110,000 0 110,000
307 QI2t0I A 110,000 0 110,000
09 2+HAHEXS 110,000 0 110,000
OcsHA2H 110,000,000 110,000
SEZH g4d3 J|Bt2= 3,000 0 3,000
sEZdE L3t 3,000 0 3,000
AEXHE DRIMX 3 =8 ALY 3,000 0 3,000
201 Let2g| 3,000 0 3,000
03 A2 ZHI 3,000 0 3,000
ORIAYM=S0 HE IME S
300,000 * 2H « 53| 3,000
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01 AtR 22l 25,660 25,560 100
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—ZEZ2H%®AX 6,120
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ZetEX 60,000 » 102 600
L= N 90,000 = 58 450
ZEZ2H=2| 250,000 = 1CH * 33 750
— &= A KA 3,300
S @ILERIX(PCU) 400,000 * 23| 800
EUHIECA 250,000 * 83l 2,000
S A ==2l 250,000 = 1CH * 23| 500
—ZeHEUHTY 300,000 * 2CH * 43| 2,400
~DREHAZEE 7Y Y 22
200,000 * 2CH * 13 400
—ZHZEHEYH Y
450,000 = 44 = 23| « 104 3,600
—FAX EH P 300,000 *= 1CH = 23| 600
— NNz & M= 2,000,000 2,000
—MNREEH(LBALAIE) 250,000 * 63l 1,500
o=l 4,000
— 02O otF&H E2 A 4,000,000 4,000
202 O4Hl 11,664 9,980 1,684
01 =W 11,664 9,980 1,684
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203 ¥R =& 3,000 0 3,000
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